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General instructions :

i
®:

The question Paper comprises four sections - A,B,C and D. There are 36 questions in
the question paper. Al questions are compulsory.

Internal choices have been provided in some questions. A student has to attempt only
one of the alternatives in such questions.

3. Section-A consists of question number 1 to 20. These questions are very short answer
questions, MCQs and Assertion - Reason questions which should be answered in one
word or in one sentence. They carry one mark each.

4. Section-B consists of question number 21 to 26. These are short answer questions
which carry two marks each.

3.  Section-C consists of question number 27 to 33. These are also short answer questions
which carry three marks each. '

6. Section-D consists of question number 34 to 36. These are long answer questions
which carry five marks each. '
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Q4.

Q1.

Q2.

Q3.

Section -A (&S - ¥)
State the condition under which Rapid combustién of a material takes
place. '

ﬁﬁuﬁwmwﬁmmmmmmﬁl (1)

OR (arern)

A suffocating gas is released during burning of coal and diesel. Name it.

Hﬁﬂwaﬁ?mwﬁa%aﬁvﬁaﬁgﬁmﬁﬂﬁaﬁﬁﬁﬁlmﬁm
ERIER

Name the metals used in making the alloy-brass.
ﬁﬂa@mmﬁmaﬁmﬁmm@aﬁ%mml
OR (3reram) |

Name two major non metals which are present in fertilisers and enhance

the growth of plants.
i;ggau@aﬁ%wmqwmﬁwgaﬁ?waﬁq@ﬁ
_ l

A plant disease led to the Irish Famine in 1740-41. Which microorganism (1)
was responsible for it?

Wqﬁﬁaﬁzﬂmﬂwm—uﬁmﬁammmamﬁawa&mﬁa
s forg RRR o1 ~

A disagreeable odour comes on opening a packet of fried chips. Whét (1)
could be the possible reason behind it?

VIl SCIENCE AND TECHNOLOGY 2
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DR B ey &7
Q5. Why is asexual reproduction called uniparental reproduction? (1)
AN T BT Tp—oifipas USTH 9f PHET ST 87
Q6. A sudden and visible change occurs in boys and girls during puberty. (1)
Mention it.
uﬁaw%aﬁwaeaﬁaﬁ?a@ﬁm?ﬁmaﬁvquﬁaﬁﬁm%l
DT ooy P |
Q7. A surface is rubbed to make it smoother. What effect will this have on (1)
’ ' friction? ' '
i‘ WW&#%W'W%%QWW%WWWWWW
1 TSIT? o '
! Q8. A series of fast moving still pictures creates an illusion of movement. (1)

Which ability of eye is responsible for it?

ﬁﬁmmmwmaﬁwmmwwmm%
Gl B BT W e 39D g Rier 22

Q9. " Identify the part which vibrates to produce sound in the following (1)
instruments -

(i) Drum

) (i) Sitar
Frfefe a3 ¥ eaft S o B RIY B B a9 AT @) e
PTG —

(i) -
(i) Rar

Q10.  How is sodium chloride different from citric acid as an electrolyte? (1).
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Q11.  Two boys are applying force on a table. In which situation. does the net f

force become zero?

ﬁmwﬁawwmwﬁ%‘lﬁmﬁﬂﬁﬁﬂ@w@ﬁ
ST 27

OR (3rer)

We can decrease the pressure by exerting the same force. Explain how?

T TF & 997 TG G4 G P IR G & | gy D7

Q12.  Write one advantage of using compressed and purified air as a lubricant. (1)
ﬁmzﬁmﬁﬂiﬂﬁ;ﬁaﬁ?g@wmmﬂaﬂﬁwww%ﬁl
OR (aeran)

Suggest how one can reduce friction in the following cases-
(i) in motors and dynamos

(i) - in a cycle lying unused for sometime

Wéﬁ?ﬁﬂ%ﬁﬂﬂmﬁaﬁwﬁﬁmmmw%—
(i) et ok SrEEmE A
’ (ii) WWE%%QWI@W%H#

Q13. A hormone controls the response of the body to stressful situations. (1
Name the.hormone.

Wsﬁﬁaﬂm@ﬁmﬁmzkmw?aﬁuﬁmﬁﬁaﬁamﬁl
T M T |

OR (3reran)
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What will happen to tadpoles if iodine is deficient in the pond water?
‘ﬂlala%mﬁﬁmaﬁmmwmwwm?

For question number 14 to 16, two statements are given-one labelled
Assertion (A) and the other labelled Reason (R). Select the correct

answer to these question from the codes (i), (ii), (iii), and (iv) as "'
given below: .

() BothAandR are true and R is the correct explanation of A.

(i)  Both Aand R are trye and R is not the correct explanation of A.

(i) Ais true but R is false.

(iv) Aisfalse butR is true.

mm14ﬁ16$m,€rmﬂﬁqw§—waﬁaﬁwm)eﬁ?
TR B SR (R) P81 7/ &1 A1) Ry T P (i), (i), (iii), 3R (iv) §
(i) aﬁmmeﬁvwﬁ‘wi*aﬂvmwaﬁﬂawmﬁl
(ii) WWWWW%WWW@@W%%I
(iii) aﬁzﬁwﬁw%aﬁﬁwm‘a‘l

(v) SRR e & b PR e ¥

Q14.  Assertion (A) : Partial combustion of wax vapours takes place in the (1)
luminous zone of a candle flame.

‘Reason (R) : Itis the hottest part of the flame.
SR - A arell BT i T8 A B o & awar &5 § B
e : 7 o 1w T e 3 |

T
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Q15.  Assertion (A) : The sound produced by a sparrdw is shriller than the (1)
sound produced by a crow. :

Reason (R) : Frequency produced by a sparrow is greater than the

frequency produced by a crow.
aﬁmﬁ:mmmwﬁmmmﬁﬁmﬁ%'
W:Tﬁ%mmmﬁamaﬁﬁmwﬁﬂm@m%'

Q16. Assertion (A) : In bacteria, reproduction takes place by the prdcess of (1)

binary fission.

Reason (R) : The parent céll divides into a number of daughter cells in
case of Plasmodium.

M(A):mﬁmﬁ,wﬁmrﬁﬁ@sﬂaﬁmmmﬁl

PR (R) :,qﬁﬁﬁmmﬁaﬂ%mﬁﬁ‘éﬁmﬁﬁﬁmﬁﬁ
Bl 2| o

OR (37eran)
Assertion (A) : Viviparous animals give birth to young ones.
Reason (R) : Reptiles ére viviparous animals.
-aﬁm:ﬁﬁﬂwaﬂmgmﬁaﬁméﬁ%
PHROT : AGI RfRE WM © |

Q17. Read the following information and answer any four questions from 4)

17(i) to 17(v) on the basis of the information given below:
Metals and non metals have been an integral part of our daily life since
ancient times. They have played an important part in the development of

-
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different civilisations. Though metals and non-metals have different
F)hysical and chemical properties, they are used for a variety of purposes
inour day to day life. Besides being used in their pure form, they are also
used in the form of their alloys . Alloys are generally harder ,stronger and

resistant to corrosion. Metalloids which show some properties of metals
as well as non-metals are used in different fields.

(i)  Why are metals essential to humans ?
(a) They are used in purification of water.
(b) They are major components of fertilisers for plants to grow.
(€)  They are used to make machinery and automobiles.
(d) They form gases in the atmosphere that are required to breathe.

(i) Which among the following alloys contain non-metal as one of its
constituents? ‘

(a) Gun metal

(b) Stainless steel
(c) Steel

(d) Alnico

'(iii) Why are food cans coated with tin and not with zinc ?
(a) Zinc is costlier than tin.
(b) Zinc is more reactive than tin.
()  Zincis less reactive than tin. -

(d) Zinc has a higher melting point than tin.

(iv) Which of the following alloys is lighter and stronger?
(@) Brass
(b) Bronze
(c)  Alnico

(d) Duralumin

7 VIII SCIENCE AND TECHNOLOGY



(v) Which of the following metals occurs in its native state?
(@) Sodium
(b) Aluminium
(c) Magnesium
(d) Silver

frafafed wFaR TReT ik R & ¥ TEeR @ MR W 17 (i) § 17
 (v) T P IR Ul B SR < |

o SR STy W Bl § & TR WE e B A= ST @ E
IR favT el @ faer # Hecayel yfier PR 8 | Tef ergal IR
SEITRA ¥ STAT—FeT WP iR AR o7 By &, AT ST ST
gIR 2 Sfae § R Sqawdl & forg A o 81 3T Y& w9 A
ITANT 6T 9 & S7errar, SHHT STANT SB[ grgall @ U # 41
ST & | P e T AR R B, Fere R ot @ for R €14 €
ﬁeaﬁssvﬁa@aﬁihw—wﬁ?—maﬁ%@ﬂﬁmgrﬁm
&3t § Swan fbu o &1 . |

() oy gt & fog o smavd €7 ‘
(a) ST SNT e & gfawor § far S €
(b) 3 O @ 9o B g SdR@ B T HED ¢ |
() mwmﬂﬁeﬂmﬁmﬂmwﬁa%mﬁmm%l
(d) ﬁa@wﬁﬂéﬁ%ﬁmwﬁwﬂ%l

(ii) ﬁmﬁrﬁqﬁﬁﬂmgaﬁﬁﬁﬁrﬁwzﬁmﬁm%?
(@) e .

~ (b) Q%T-F@I'HR"TH
(c) ESInl
d) Ian%aﬁr

(iii) Wior @ R« o § aftd w8 § ok Rie @ il 7Eie
() R, foT & wEW B B i
(b)  fiw, o1 @ gorm ¥ afer uffhareiier 71

) fim, T & go # B wifhardier 2
d) e # T B gor § fdd TeAiE B |
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Q18.

(iv) ﬁﬁ%%aﬁ%a@aﬁﬁ@raﬁqwﬁﬂa@maﬁvm%‘?
@ b

(b) Gars|
(c) JfesTapr
(GO (i

(v) W%aﬁﬁﬁ?ﬁmm%ﬁaﬁﬁﬁ%?
(@) wfsam

(b)  Tepifrgs
()  Wifarm
d) =i

Rea.\d the following information and answer any four questions from
18(i) v to 18 (v) on the basis of the information given below:

Michael Faraday began his experiments on the passage of electricity
through liquids in 1834. Faraday called this phenomenon electrolysis
because it causes chemical changes within the electrolyte. Electrolysis
has some important scientific and industrial applications like extraction of
metals from ores, electrorefining of metals and electroplating.

(i)  Which of the following is not extracted by electrolysis ?

(a) Al
(b) Na
(c) Fe
d K

(i) Jewellery makers electroplate artificial jewellery with gold and silver.‘
(é) To minimise the cost
(b) To make it heavier
(c) To protect it from rust

(d) To avoid the effects of wear and tear

(4)
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(iii) The correct pair of electrodes for electrorefining of copper IS
l. - A pure copper rod is made cathode.
il. A pure copper rod is made anode.
Il An impure copper rod is made cathode.
IV.  Animpure copper rod is-made anode-

(@) land Il

(b) Il 'and il
(c) land IV
(d) Mand IV

(iv) During the electroplating of copper on zinc rod, the free mf)blle
copper ions move towards-
(@)  Cathode
(b) Anode
(c) electrolyte =
(d) bottom of the cell

(v)  Electroplating is based on-

. (a)’  Magnetic effect of electricity
(b)  Chemical effect of electricity
(c) Physical effect of élet;tricity
(d)  Heating effect of electricity

Rrefia ST TRy AR W & TE SFER @ MR W 18 (i) ¥ 18
(v) 75 58 IR v @ SR AR

Tedd B Y 1834 § Rl TSR & A ¥ RISl & wiRd 8N W
gy FENT g 6| ORR Y §9 UST B sadgie bl i I8
soReEe & HiaR VRS IRedT P PROT I 7| FeidsiiciE @
B Teaq dmite SR e SR § S SRR ¥ eget P

(i) ﬁwrﬁamawjmﬁawgaaaﬁmwﬁﬁmwmg?

(a) Al
(b), Na
(c) Fe

d) K

VIl SCIENCE AND TFECHNOLOGY 10
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V. % g a1 N B3 Tie s ot 2
@ 13RI
(b) 3R

©  1sRWV
(d) I &R IV

(iv) mwwﬂé%ﬁgﬁm%aﬁﬁwmaﬁa%m
HEl S B—

(@) dAs

b) e

()  SelgKIEe
(d) 9D TA W

(v) SoEgIfeT Py R MG &7

(@) ol @1 gEe g
(b)  fasreh &1 wreEfAG g
(c)  fawtel @ Aifd® wara
d) faseh &1 EfeT e

1 VIl SCIENGE AND TECHNOLOGY




—*—f—ﬁ

Q19.  Read the following information and answer any four questions from (@)

19(i) to 19(v) on the basis of the information given below:

Force is a push or pull which comes into effect when there is an interaction
of one object with another object. Forces acting on an object can cause
a change in its state of motion or in shape and size. Force has both
magnitude and direction. A force which acts on an object without its being
in direct physical contact with another object is called a non contact force.
The force which acts only when objects are in physical contact with each

. other is called contact force.

(i)  Aryanwants to skate using a skateboard. Which two objects should
interact in order to move the skateboard?

(a) Ground and the skateboard

(b) Wheels of skateboard and foot of Aryan
(c) Skateboard and wheels of skateboard
(d) Ground and foot of Aryan

(i)  Two boys are pushing a cart. Boy 'X' applies a force of 50N towards
the east. Boy "Y' applies the force of 70N on the same cart towards
the west. How does it affect the cart?

(@) It brings the cart to rest.

(b) It will change the shape of the cart.
(c) It will move the cart towards the west.
(d) It will move the cart towards the east.

(i) Consider a lighter mass (car) and a heavier mass (truck) parked on
a horizontal road. Suppose we apply the same force for the same
time to both the car and the truck then-

(a) Both vehicles will attain the same speed in that time.

(b) The car picks up a greater speed than the truck in that time.
(c) The truck picks up a greater speed than the car in that time.
(d) The truck moves with some speed but the car continues to

remain at rest.

Vil SCIENCE AND TECHNOLOGY 12



(V) Aball is movin

) 9 to the left at a speed of 7km/h. Akshita kicks the
~ ballin the sam

e direction. What can be the likely speed of the ball?

@  3kmm
(b)  okm/h
(c) 7km/h
(4  10kmp

(v) !f a body is allowed to fa]| down from a height freely, its speed
InCreases continuously because-

(a) Air does not exert frictional force.

(b)
()

Magnetic force of earth increases its speed.
Gravitational force of earth increases its speed.

(d) Atmospheric pressure forces it down.

Frefeled sTar oy stk 49 @ Té SET B SR W 19 (i) ¥ 19
(V) T & 2R woit & s dRw) \
9e1 UD SDT I Il & Wl U qeg B g g B W Bhar @ R
ﬁm%%wwwﬁmﬁﬁw‘w&%nﬁﬁﬁaﬁmmﬁ
qﬁaﬁqmwmﬂﬁﬁlwﬁwwmaﬁsﬁﬁlww
S el 9w R el o awg & e Y wiRe Huas F ame R B
BT &, S¥ IR GG 961 FET W & | 98 T o g o B e &
ST IXIY VP IR B WS ARG FUP Bl &, U 97 pwerar |
() R WeaE T SWNT IS We B AR L @edS @
WIIART B B forg bt &1 a¥gell B Tb—geR & |1 B R
1fey? |
(@)  USS IR Wede
(b) oM B W AR FhedS B ey

(c)  hcdlS 3R wWhedls & ufed
(d) oM @1 R AR S
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(ii

27 3R 50N T §el

aﬁa@_?ﬁ-wn@aﬁméﬁﬁlmxﬁNmaam%l

T & | T Y ufvem @ ik Id M W 70
T8 ST BT B IR Bl 87

@ 7 T oo A Rt F e

(b) SR MR B R G WG

() T T P e A SR S S

- (i)

(iv)

(v)

@) uE T B o A el @ e |

(@) o9 ¥ O e que R AT AN |

(b)  BR TH G N g A goe § e T THed B
(© 7 9w ¥ @R B R & e TR e F B
(@) 5% 7o TR W To ¥ o, FR Ror wEd B

o i R /sfer R ol B o ¥ e @
i R P 19| 1 ) <P TR e @ e 2

(@) 3fEAL/Her
(b)  ofd /wer .
(c) . 7RBHL/EeT iy
d)  1ofwA. /e

Swe TR FRR aed <& 2 Hif—

@) g i T T |

(b) qaﬁmwﬂwwﬁﬂﬁiﬁ‘rmé|
() g @1 TOEIDUT I THH TR B F9IT B
(d) - drgHeed 5 g A v ¥

AR Pl fie 71 SO BT W A Py R e #
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Q20.

Read the followin
20(i) to 20(v) on ¢
Some microorgan

g information and answer any four questions from (4)
he basis of the information given below:

isms are useful to us in many ways: they help us in
Preparing foods like curd,cheese and alcoholic beverages ; they are

useful in treatment of Sewage,in energy production and in cleaning of the
environment. They also help in production of antibiotics and vaccines.

Some of them even enrich the soil and help in agriculture.

()  Inwhich of the following food items,will the bacteria start multiplying
in two days? _
(@  Tomato soup in a bowl
(b) Frozen peas
(c)  Potato chips
(d) pulses in a jar

(i) A microorganism that helbs in antibiotic production

(@)  Bacteria
(b) Algae
(c) Virus

(d) Protozoa

(iii) A vaccine produces immunity to a disease
(a) by killing the pathogsivs.
(b) by stimulating the production of antibodies.
(c) by weakening the pathogens.
(d) \by increasing the number of beneficial microorganisms.

(iv) Which activity of nitrogen fixing bacteria helps to make the soil

more fertile?

(a) Breaking down nitrogen rich waste into nitrogen gas

(b) Supplying compounds of nitrogen to plant roots

(c) Breaking down compounds of nitrogen to release nitrogen
gas

(d) Taking up atmospheric nitrogen and converting it into
compounds of nitrogen

15 VIII SCIENCE AND TECHNOLOGY



TR e TN R RS

that gets
Milk tastes sweetish due to the presence of sugar

° ., : correct
converted into an acid during curd formation. Identify the
pair of sugar and acid. '

. (a) Fructose - formic acid

(b) Glucose- citric acid
(c) Lactose- lactic acid
(d)  Sucrose - oxalic acid

e Srerd ufde ol A & ¢ e & MR W 20 (i) W20
(V) T 5 3R wei & SR AR |

BB ST TR foY o A § syl @ & 3 <8, TR o AeS
T I T Uerf AR ae § g Aee e § O €9 @ SUaR, ol
ST | AR v @ wwtd § s ¥ 9 daEis @i AR
aﬁ%mﬁﬁmwﬁ%nwﬁﬁwﬁaﬁﬁmmﬁ%l |
IR P # eg weg ¥

(i)

(ii)

fod @ arf % SadRar & Rt ¥ on B g B e
(@ TP BN H TR BT U

(b) ¥ gU AR

(©) s forew

d)  UH IR A T

wqmﬁﬁaﬁ@a@ﬁawﬁ?ﬁmﬁwm%—

(@)  Siramg
(b) T
(c) d™
(d)  desRT

(i) T et fordl IR & Wiy wRRem Seoe vt 2

(@) NI P ARGR

(b) U & ST B ST e
() TSP PN FHAR PR
(d) Wﬁeﬂvﬁa‘fﬁmﬁq@rm
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Q21.

?‘;ﬁf‘mwﬁgﬂ B P @ TR Fred B e SR |
8 Egem | o 3

' \YE DR B Ageiom A9 § dre
8 ‘maﬁwzﬁ*“@ﬁ?aﬁﬁﬁﬁaﬁm@m

g S N & et §
ql?ﬂﬁﬁ\ BT sﬁmﬁﬁﬂ | |

_ Y ISl Wi <dl & Sl 8 B e B
SR URiS ¥ aRaRfa &1 w8 <o o oRrs @ WA S
TEA i | | |

@ pRN-vife e
(b) TR e
©  AR-dfes e
d)  gpro—sifeahe hie
Section - B (Gs—4)
Noise pollution is undesirable. Suggeét any two ways' of minimising it. (2)

S TGYVT e ¥ 1 S W B B 5 < 8 T g ©
OR (3wera)

Give reason- \ ;
(a) We do not hear the sound produced by an oscillating
pendulum. ‘

(b) A person pressing his ear on the railway tracks can hear
the sound of an approaching train.

HRU FaATgT— '
(b) I TP R PIF TEPR TP Afdd BI 37T Y& ¢ ) 7Tt
GE i B
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Q22.

Q23.

Q24.

Q25.

ss through two

Two parallel rays of light X and Y (as shown in fig.) P2 > lenses used in

boxes A and B. What will be the combination of device
box A and B? ~

Waﬁamﬁsﬁxsﬁ?Y(ﬁwﬁﬁ%ﬁmwgo.ﬁ
WAWB@W%*IG‘WA@?B.ﬁWm/ww

IS 9T R |
X > | >—
FIG- A | , B
Y > i v

Alternative question for visually impaired students in lieu of Q. No. 22.
Write any four applications of lenses. '

Yo W 22 B I W gReaia B @ g defas e |
T B Rl AR ST Y R |

You are asked to select a cleaner fuel for your vehicle. Which fuel would
you select and why? Give two points in support of your answer.

8| ag B A1 SuA g SR P U ST & FHAA # 1 BRYT gay |

What happens when there is incomplete combustion? Give two points.

S/ SERT 8 B & A 1 e 87 P A

Elucidate the location and function of the ribosomes.

?ls'sfrmﬂ$?eﬂ=raﬁv$rézb’r-maﬁl

18
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Q26.
Q.
4,

Q28.

OR (3rran)

Compare
pare Rough ER and Smooth ER on the basis of their function.

\ W$W“W§W3ﬁ?%ﬁ§maﬁgﬂmﬁl

Which circumstances may provoke an adolescent towards taking drugs?

ﬁ?ﬁﬁﬁ@xﬁﬁ%ﬁ?&ﬂwﬁ#?ﬂéﬁ%%ﬂmm%‘?

Section - C (@s )
Name the following-

(@)  Apetroleum product used for making roads
(b)  Afuel used for extraction of metals

(c) A major renewable natural resource of energy

foRad &1 w9 sae-

(@) USH M & forw SuAnT fbar WM aren Ugiforem ST
(b) ergsl & frspur & forg SwART fFar S are e
(€) ol BT TP WE TAaRU THiis deae

(a) Why are objects moving through fluids given special shapes?
(b) Give examples of any two objects whose designing is done to make
them have these special shapes.

(c) How does air resistance change when the surface area of the body
falling in air increases?

(a) el verRll & e W e dlell TRl B R SMHR T e S ¥
(b) ot < el & SarewwT Ao et Reomef 571 vy aref
B 9 & forg A i 7 |

©) mmﬁﬁﬁa@aﬁaﬁwéﬂaﬁm%ﬂ‘ra@m&ﬁ
qead &7

19
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Q29. Sometimes in spite of all precautions and proactive actions, our eyes (3)
may develop some defects. These can be due to a variety of reasons. '
Identify the eye defects in the following conditions-
(a) Defect caused due to elongation of eyeball -
(b)  Eye Lens becomes hazy or even opaque ,
(c) Image of a nearby object gets formed behind the retina

-l Tl e @ SraeE T ol ¥ gw A ek 8w
g1 3 FE BRUN W B wea & | FrafoReg Refat § 53 st 1 wEE
N |

(@) NS D 9919 D BRY Y el a9

(b) 3N i e AT Yei TH b srReH & o @

(c) U & 9%g @ B e B N e 2

Q30. A metal "X’ when treated. with cold water gives a base 'Y" with formula (3)
XOH and liberates a gas 'Z' which easily catches fire. |
(a) Identify X, Y and Z.
(b) Write a balanced chemical equation for the reaction involved.

T O] X' T9 TS U B G URifshar axar 8 a g XOH & 6T U
© 9 'Y a1 § 3R TP TN ‘2" BT SUIeT dxal & off Ml | 3T Uhe
AR .

(@ X, Y 3R Z & yga S |

(b) suH enfia ufafear @ fov ve wgfera warife @iievor fofay |

Q31.  Explain why- | : ' (3)
(@) Sand is used to extinguish fires caused by Petrol.
(b) Apiece of paper burns quickly when a burning matchstick is brought
near it.
(c) Water is not used in controlling electrical fires.

HASMSY Fi—

(a) USIe W ol 3T g3 & Y NG B s fbar S g1

(b) memﬁsﬁﬁm%wwmgmﬁvaﬁm
P IED U AT T B

(c) ﬁm@ﬁaﬁmaﬁﬁaﬁmmﬁﬁmﬁmwwmmﬁ
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OR (37eran)

Fill in the blanks-

Type of fuel Quantity (in Kg) Calorific Energy produced (KJ)
value

FUEL-1 2 40,000KJ/Kg .| M ——

FUEL-2 25 D) ~ 95,000

()  Which fuel is better and why?

R o -

|9 & vor | wmr @ W) | P Aw | Serfid oot @)
SH—1 -2 40,000KJ/KG | @)overrerrerrrernnnee,

Seei—2 2.5 +) SO | 95,000

() @M W o 98 © AR 2

Q32.  Observing personal hygiene is essential. Why? Which practices should (3)
be ad()pted by adolescents to promcte personal hygiene? (any four)

SATHRTET T BT JTAHT BT JAF § | F9? FooiRt grT e
gl g1 XA ® forg e vl @1 s s amRe? (@1 9rR)

Q33. (a) .What is known as a unit of inheritance in a living being? - ' (:
(b) Compare chioroplasts and leucoplasts on the basis of -
(i)  colour (i) function

[FV]
~-—

(a) T ShfxT weft ¥ GG A THE D T F W ar &2
(b) TR 3R YHEIRE B T T SR T =
(i =T (i) o
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Q34. (a)

(b)

(@ .

(b)

Q3. (@)

(b)

(c)

(d)

(a)

(b)
(c)

(d)

Section - D (@< ®)

Distinguish between thermoplastics and thermosetting - plastics

with respect to
(i) arrangement of molecules
(i) ability to remould

What are disadvantages of synthetic fibre? (three points )

Wsﬁ?uﬁ%ﬁmiﬁmﬁwﬁﬁﬁ@m“
3R PR—
(i) Syt @ awen (i) Reles = B FA

R TR @ JEaE 7 &7 (@1 &)

What will be the nature, size and position of an image formed by a
convex lens if light rays are coming from an object at infinity?

Draw a ray diagram for the image formed in part 'a'. "

-

You are given three mediums: diamond, water and ordinary glass.
Which medium will have the highest value for speed of light in it?

A candle was placed at a distance of 20 cm from a convex lens.
Image was also formed at a distance of 20 cm from the lens. Find
the focal length of the lens.

ﬁﬂﬂa@waﬂaﬁwm@rw@iﬁ
A ‘2 ¥ fea wiifde @ Y Ue R e gAg |
! A wreEH Ry MY E R I, RO T | f e

- YT B f STEaH BT

Ts S o ¥ 20 WAL aﬁqﬁwwﬁ“@?ﬂ?@ﬁﬁlﬁﬂﬁ

20 §AL 1 Q0 R B A TR T M| AW B Brvet siars s
B |
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e e

Alternative question for visually impaired students in lieu of Q. No.
35(b).

Why do we use a convex lens as a reading glass or magnifying glass?

Y ST 35(b) B WM W gReqifia BrEl @ g defeas T

& ST o B AT o o e o B o T A
OR (3reran)

(@)  Explain why we do not perceive the real depth of a swimming pool?

(b)  Aray of light strikes the glass slab at an angle of 90° from its surface.
What will be the angle of incidence and angle of refraction?

(¢)  When white light is passed through a glass prism then
(i) Which colour bends minimum towards the base of the prism?
(ii) Which colour bends maximum towards the base of the prism?

(d) Why does light bend when it travels through two optically different
media?

(a) W%Eﬁﬂhﬁgﬂﬁﬂﬁﬁmw@aﬁwqﬁm%?

(b) UHTI B TH IR0 Fia & g A IAD! T8 Q 90° P DT R YSR
Bl 2| MUY DI 3R Iac BV AT B? M

(c) O/ T U B Brd & fISH | AR o1 &
(i) P T IS B SR A AR AW st 87
(un)aﬁﬂwwﬁmzﬁwﬁaﬂ?wmwg?

(d) W?&TW%W%E’IWW—WW%W
q AT PRl 87

Q36. (a) Name the part of the human body which produces sperm. (5)
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(b)

©)
(@)
(b)

()

Draw a labelled diagram of sperm.

Write two functions of hormones produced by ovaries.
Wﬂﬂ?iﬁwmmﬁmmﬁﬁwmm%f
T BT T SR FG |

skerrs g e e @ o Rl

Alternative question for visually impaired students in lieu of Q. No.
36(b).

Name the parts of a sperm. How is sperm able to penetrate female ovum?

T AT 36(b) B WM W gReqit oEl @ forg d@ferd W |

YT B AT BT A S| eI Afen R § W ae ¥ B e 87

(@)
(b)
()

OR (&ra)
A frog Has a shorter i_nteétir;e than a tadpole. Why?
How is zygote different from an embryo?
Identify the repfoducth)e pattern in :
(i) Pigeon '
(ii) Cat
St B g fgw B aig O A 2|
TF A YO 4 B e 27
ot TRl & s dedt @ gEE o

(i)  FER
(ii) IERl
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